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Problems and related information: =5 — w

74514 7405
1. Wires can be drawn but they don‘t connect components = Uic U

see example: Wire from R1 to U1A (pin2)
. Even components with directly ovelapping terminals are not connected

See Example R4 and D1; C2 and U1G, C3 and U2C

But this is not alwasy the case. e.g. Vcc and R3 are connected but BT1 and GND are not connected.
3. It seems that mouse cross—hair and mouse stylet (cursor) don’t overlap. 100%.

This becomes very obvious with larger grid setting. Unfortunately, this cannot be
documented through screenshot.

Current grid setting in this screenshot is: 1.00mils (0.0254mm).
KiCad ver. (5.1.5)=3; Plattform: Widows 8 (Build 9200), 64=bit edition, 64 bit
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